# Isomorphism on Fuzzy Graphs

A.Nagoor Gani and J.Malarvizhi

**Abstract**—In this paper, the order, size and degree of the nodes of the isomorphic fuzzy graphs are discussed. Isomorphism between fuzzy graphs is proved to be an equivalence relation. Some properties of self complementary and self weak complementary fuzzy graphs are discussed.

*Keywords*—complementary fuzzy graphs, co-weak isomorphism, equivalence relation, fuzzy relation, weak isomorphism.

#### I. INTRODUCTION

The concept of fuzzy relations which has a widespread application in pattern recognition was introduced by Zadeh in his classical paper in 1965. P. Bhattacharya in [1] showed that a fuzzy graph can be associated with a fuzzy group in a natural way as an automorphism group. K.R. Bhutani in [2] introduced the concept of weak isomorphism and isomorphism between fuzzy graphs. In this paper some properties of isomorphic fuzzy graphs are discussed.

#### II. PRELIMINARIES

A fuzzy graph with S as the underlying set is a pair  $G: (\sigma, \mu)$  where  $\sigma: S \to [0,1]$  is a fuzzy subset,  $\mu: S \times S \to [0,1]$  is a fuzzy relation on the fuzzy subset  $\sigma$ , such that  $\mu(x, y) \leq \sigma(x) \wedge \sigma(y) \forall x, y \in S$ .

Throughout this paper S is taken as a finite set. sup  $p(\sigma) = \{u \mid \sigma(u) > 0\}\}$ 

and sup  $p(\mu) = \{(u,v) \mid \mu(u,v) > 0\}$ . For the definitions that follow let  $G: (\sigma, \mu)$  and  $G': (\sigma', \mu')$  be the fuzzy graphs with underlying sets S and S' respectively.

Definition 2.1 [6]: Given a fuzzy graph  $G: (\sigma, \mu)$  with the underlying set S, the order of G is defined and denoted as  $p = \sum_{x \in S} \sigma(x)$  and size of G is defined and denoted as  $q = \sum_{x \in S} \mu(x, y)$ 

Manuscript received December 30, 2007.

Dr.A.Nagoor Gani is with the PG & Research Department of Mathematics, Jamal Mohamed College (autonomous), Trichy- 620020, India (Phone: +91-9443411221; e-mail: ganijmc@yahoo.co.in

J.Malarvizhi is with the PG Department of Mathematics Kunthavai Naacchiyaar Govt. Arts college(w), Thanjavur 613007, India(e-mail: mathmalar@yahoo.co.in)

### III. ISOMORPHISM - BASIC PROPERTIES

Definition 3.1 [2]: A homomorphism of fuzzy graphs  $h: G \to G'$  is a map  $h: S \to S'$  which satisfies  $\sigma(x) \leq \sigma'(h(x)) \forall x \in S$  and

 $\mu(x, y) \le \mu'(h(x), h(y)) \forall x, y \in S$ 

Definition 3.2[2]: A weak isomorphism  $h: G \to G'$  is a map,  $h: S \to S'$  which is a bijective homomorphism that satisfies  $\sigma(x) = \sigma'(h(x)) \forall x \in S$ .

*Example 3.3:* Let  $G: (\sigma, \mu)$  and  $G': (\sigma', \mu')$  be the fuzzy graphs with underlying sets  $S = \{a, b, c\}$  and

 $S' = \{a', b', c'\}$  where  $\sigma : S \rightarrow [0,1]$ ,

 $\mu: S \times S \to [0,1] \ \sigma': S' \to [0,1], \ \mu': S' \times S' \to [0,1]$ are defined as  $\sigma(a) = 1/2, \ \sigma(b) = 1/4, \ \sigma(c) = 1/3;$  $\mu(a,b) = 1/5, \ \mu(b,c) = 1/5, \ \mu(a,c) = 1/4;$  $\sigma'(a') = 1/2, \ \sigma'(b') = 1/4, \ \sigma'(c') = 1/3 \text{ and}$  $\mu'(a',b') = 1/4, \ \mu'(b',c') = 1/4, \ \mu'(a',c') = 1/3;$ Defining  $h: S \to S'$  as  $h(a) = a', \ h(b) = b',$ h(c) = c' this h is a bijective mapping satisfying  $\sigma(x) = \sigma'(h(x)) \forall x \in S$ 

$$\mu(x, y) \le \mu'(h(x), h(y)) \forall x, y \in S.$$
  
Fig. 1(a) is weak isomorphic to Fig.1(b)



Definition 3.4 [2]: A co- weak isomorphism  $h: G \to G'$ is a map,  $h: S \to S'$  which is a bijective homomorphism that satisfies  $\mu(x, y) = \mu'(h(x), h(y)) \forall x, y \in S$ .

*Example 3.5:* Let G:  $(\sigma, \mu)$  and G':  $(\sigma', \mu')$  be the fuzzy graphs with underlying sets S and S' respectively with  $S = \{a, b, c\}$  and  $S' = \{a', b', c'\}$  where  $\sigma : S \rightarrow [0,1]$ ,  $\mu : S \times S \rightarrow [0,1] \sigma' : S' \rightarrow [0,1], \mu' : S' \times S' \rightarrow [0,1]$ 

are defined as  $\sigma(a) = 1/3$ ,  $\sigma(b) = 1/2$ ,  $\sigma(c) = 1/4$ ;  $\mu(a,b) = 1/3$ ,  $\mu(b,c) = 1/5$   $\mu(a,c) = 1/4$ ;  $\sigma'(a') = 1/2, \sigma'(b') = 1, \sigma'(c') = 1/4$ ; and  $\mu'(a',b') = 1/3$ ,  $\mu'(b',c') = 1/5$ ,  $\mu'(a',c') = 1/4$ ; Defining  $h: S \to S'$  as h(a) = a', h(b) = b', h(c) = c';This h is a bijective mapping satisfying  $\sigma(x) \le \sigma'(h(x)) \forall x \in S$  $\mu(x, y) = \mu'(h(x), h(y)) \forall x, y \in S$ 

so that Fig 2(a) is co-weak isomorphic to Fig 2(b).



Definition 3.6/2]: An isomorphism  $h: G \to G'$  is a map  $h: S \rightarrow S'$  which is bijective that satisfies  $\sigma(x) = \sigma'(h(x)) \forall x \in S$ 

 $\mu(x, y) = \mu'(h(x), h(y)) \forall x, y \in S$ 

We denote it as  $G \cong G'$ .

Remark 3.7

- 1. A weak isomorphism preserves the weights of the nodes but not necessarily the weights of the edges.
- 2. A co- weak isomorphism preserves the weights of the edges but not necessarily the weights of the nodes.
- 3. An isomorphism preserves the weights of the edges and the weights of the nodes.
- 4. An endomorphism of a fuzzy graph G:  $(\sigma, \mu)$  is a homomorphism of G to itself.
- An automorphism of a fuzzy graph G:  $(\sigma, \mu)$  is an 5. isomorphism of G to itself
- 6. When the two fuzzy graphs G & G' are same the weak isomorphism between them becomes an isomorphism and similarly the co-weak isomorphism between them also becomes isomorphism.

In crisp graph, when two graphs are isomorphic they are of same size and order. The following theorem is analogous to this.

Theorem 3.8: For any two isomorphic fuzzy graphs their order and size are same.

*Proof:* If  $h: G \to G'$  is an isomorphism between the fuzzy graphs G & G' with the underlying sets S & S' respectively then  $\sigma(x) = \sigma'(h(x)) \forall x \in S$ 

$$\mu(x, y) = \mu'(h(x), h(y)) \forall x, y \in S$$

(i) order (G) = 
$$\sum_{x \in S} \sigma(x) = \sum_{x \in S} \sigma'(h(x))$$
 = order (G')  
(ii)Size (G) =  $\sum_{x,y \in S} \mu(x, y) = \sum_{x,y \in S} \mu'(h(x), h(y))$  = Size(G')

Corollary 3.9: Converse of the above theorem need not be true.

Example 3.10: Consider the fuzzy graphs G and G' with underlying sets S and S' as  $S = \{a, b, c, d\}, S' = \{a', b', c', d'\}$  $\sigma(x) = 1 \forall x \in S, \mu(a, b) = 0.25, \mu(b, c) = 0.5, \mu(c, d) =$ 0.25  $\sigma'(x) = 1 \forall x \in S, \mu'(a', b') = 0.75, \mu'(b', c') = 0.125,$  $\mu'(b', d') = 0.125$ . In these two graphs p = 4, q = 1. But G is not isomorphic to G'.



(a) 
$$G:(\sigma, \mu)$$
 (b)  $G':(\sigma', \mu)$ 

Fig. 3 Graphs of same order and size but not isomorphic Remark 3.11: If the fuzzy graphs are weak isomorphic then their orders are same. But the fuzzy graphs of same order need not be weak isomorphic.

Example 3.12:



Fig. 4 Graphs of same order but not weak isomorphic The above two fuzzy graphs are of order 3 but they are not

weak isomorphic. Remark 3.13: If the fuzzy graphs are co-weak isomorphic their sizes are same. But the fuzzy graphs of same size need not be co-weak isomorphic.

Example 3.14:

The following two fuzzy graphs in Fig 5 are of size 2, but they are not co-weak isomorphic

Vol:2, No:11, 2008



Fig. 5 Graphs of same size but not co- weak isomorphic *Definition 3.15[3]:* Let G:  $(\sigma, \mu)$  be a fuzzy graph. The

degree of a vertex 'u' is defined as  $d(u) = \sum_{\substack{v \neq u \\ v \in S}} \mu(u, v)$ 

*Theorem 3.16:* If G and G' are isomorphic fuzzy graphs then the degrees of their nodes are preserved.

**Proof:** Let  $h: S \rightarrow S'$  be an isomorphism of G onto G'. By the definition of isomorphism

$$\mu(x, y) = \mu'(h(x), h(y)) \forall x, y \in S, \text{ so}$$
  
$$d(u) = \sum_{\substack{v \neq u \\ v \in S}} \mu(u, v) = \sum_{\substack{v \neq u \\ v \in S}} \mu'(h(u), h(v)) = d(h(u)).$$

Corollary 3.17: Converse of the above theorem need not be true. Consider G :( $\sigma$ ,  $\mu$ ) with the underlying set S= {a, b} where  $\sigma$  (a) =1/2 &  $\sigma$  (b) =1/4 and  $\mu$  (a,b)=1/4;

G': ( $\sigma'$ ,  $\mu'$ ) with the underlying set S'= {a', b'} where

 $\sigma'(a') = 1/2$  and  $\sigma'(b') = 3/4$  and  $\mu'(a',b') = 1/4$ ;

Here d(a)= d(b)= d(a')=d(b')=1/4 but G and G' are not isomorphic, only co-weak isomorphic.

*Remark 3.18:* The degree of a vertex is measured only by adding the weights of the edges incident with that vertex. But fuzzy graphs preserving the degree of the vertices need not be co-weak isomorphic.

Example 3.19:





In the above two graphs each vertex is of degree .75. But those two are neither co-weak nor weak isomorphic graphs.

*Theorem 3.20:* Isomorphism between fuzzy graphs is an equivalence relation.

*Proof:* Let G:  $(\sigma, \mu)$ , G': $(\sigma', \mu')$ , G'': $(\sigma'', \mu'')$  be fuzzy graphs with underlying sets S, S' and S'' respectively.

(i) Reflexive: Consider the identity map  $h: S \to S \to :$ 

h(x) = x for all x in S. This h is a bijective map satisfying  $\sigma(x) = \sigma(h(x)) \forall x \in S$ .

$$\mu(x, y) = \mu(h(x), h(y)) \forall x, y \in S$$

Hence h is an isomorphism of the fuzzy graph to itself. Therefore it satisfies reflexive relation.

(ii) Symmetric: Let  $h: S \to S'$  be an isomorphism of G onto G' then h is a bijective map

$$h(x) = x', x \in S$$
 satisfying (1)

$$\sigma(x) = \sigma'(h(x)) \forall x \in S \text{ and}$$

$$\mu(x, y) = \mu'(h(x), h(y)) \forall x, y \in S$$
<sup>(2)</sup>

As h is bijective, by (1)  $h^{-1}(x') = x \forall x' \in S'$ ; Using (2)

$$\sigma(h^{-1}(x')) = \sigma'(x')\forall x' \in S'$$
  

$$\mu(h^{-1}(x'), h^{-1}(y')) = \mu'(x', y')\forall x', y' \in S'$$
(3)

Hence we get a 1-1, onto map  $h^{-1}: S' \to S$ , which is an isomorphism from G' to G. i.e G  $\cong$  G'  $\Longrightarrow$  G'  $\cong$  G.

(iii) Transitive: Let  $h: S \to S'$  and  $g: S' \to S''$  be isomorphisms of the fuzzy graphs G onto G' and G' onto G'' respectively.

Then  $g \circ h$  is a 1-1 onto map from S to S" where

$$(g \circ h)(x) = g(h(x)) \forall x \in S$$
.

As 
$$h: S \to S'$$
 is an isomorphism  $h(x) = x', x \in S$ 

$$\sigma(x) = \sigma'(h(x)) \,\forall x \in S$$

$$\mu(x, y) = \mu(n(x), n(y)) \forall x, y \in S$$

i.e, 
$$\sigma(x) = \sigma'(x') \forall x \in S$$
 (4)

$$\mu(x, y) = \mu'(x', y') \forall x, y \in S$$
<sup>(5)</sup>

As g is an isomorphism from S' to S" we have  $g(x') = x'' \quad x' \in S' \&$ 

$$g(x) = x, x \in S \quad \alpha$$
  
$$\sigma'(x') = \sigma''(g(x')) \forall x' \in S', \qquad (6)$$

$$\mu'(x', y') = \mu''(g(x'), g(y')) \forall x', y' \in S'$$
(7)

S

From (4), (6) and using 
$$h(x) = x', x \in$$

$$\sigma(x) = \sigma'(x') = \sigma''(g(x')) \forall x' \in S'$$
$$= \sigma''(g(h(x))) \forall x \in S$$

From (5) and (7) we have,

$$\mu(x, y) = \mu'(x', y') \forall x, y \in S$$
  
=  $\mu''(g(x'), g(y')) \forall x', y' \in S'$   
=  $\mu''(g(h(x)), g(h(y))) \forall x, y \in S.$ 

Therefore  $g \circ h$  is an isomorphism between G and G". Hence isomorphism between fuzzy graphs is an equivalence relation.

*Theorem 3.21:* Weak isomorphism between fuzzy graphs satisfies the partial order relation.

Proof: Let G:  $(\sigma, \mu)$ , G': $(\sigma', \mu')$ , G":  $(\sigma'', \mu'')$  be fuzzy graphs with underlying sets S, S', S'' respectively.

(i) Reflexive: Consider the identity map  $h: S \to S$ ,  $\vartheta$ : h(x) = x for all x in S. This h is a bijective map satisfying

$$\sigma(x) = \sigma(h(x)) \forall x \in S$$

$$\mu(x, y) = \mu(h(x), h(y)) \forall x, y \in S$$

Hence h is a weak isomorphism of the fuzzy graph to itself. Therefore G is weak isomorphic to itself

(ii) Anti symmetric: Let h be a weak isomorphism between G and G' and g be a weak isomorphism between G' and G. i.e h:  $S \rightarrow S'$  is a bijective map  $h(x) = x', x \in S$  satisfying

$$\sigma(x) = \sigma'(h(x)) \forall x \in S \&$$

 $\mu(x, y) \le \mu'(h(x), h(y)) \forall x, y \in S$ (8)

and  $g:S' \rightarrow S$  is a bijective map satisfying

$$\sigma'(x') = \sigma(g(x')) \forall x' \in S' \&$$

$$\mu'(x', y') \le \mu(g(x'), g(y')) \forall x', y' \in S'$$

The inequalities (8) and (9) hold good on the finite sets S and S' only when G and G' have the same number of edges and the corresponding edges have same weight. Hence G and G' are identical.

(iii) Transitive: Let  $h: S \to S'$  and  $g: S' \to S''$  be weak isomorphism of the fuzzy graphs G onto G' and G' onto G'' respectively.

Then  $g \circ h$  is a 1-1 onto map from S to S" where  $(g \circ h)(x) = g(h(x)) \forall x \in S$ 

As h is a weak isomorphism,

$$h(x) = x' \forall x \in S, \ \sigma(x) = \sigma'(h(x)) \forall x \in S$$
(10)

$$\mu(x, y) \le \mu'(h(x), h(y)) \forall x, y \in S$$
(11)

As g is a weak isomorphism from S' to S" we have,

$$g(x') = x'', x' \in S' \quad , \sigma'(x') = \sigma''(g(x')) \forall x' \in S' \quad (12)$$

$$\mu'(x', y') \le \mu''(g(x'), g(y')) \forall x', y' \in S'$$
(13)

From (10) & (12),  $\sigma(x) = \sigma'(x') \forall x \in S$   $= \sigma''(g(x')) \forall x' \in S'$   $= \sigma''(g(h(x))) \forall x \in S$ From (10), (11),(12) & (13),  $\mu(x, y) \leq \mu'(x', y') \forall x, y \in S$   $\leq \mu''(g(x'), g(y')) \forall x', y' \in S'$ 

$$= \mu''(g(h(x)), g(h(y))) \forall x, y \in S$$

Therefore  $g \circ h$  is a weak isomorphism between G and G". i.e weak isomorphism satisfies transitivity.

Hence weak isomorphism between fuzzy graphs is a partial order relation.

## IV. ISOMORPHIC GRAPHS AND THEIR COMPLEMENTS

Definition 4.1 [7]: Let G: ( $\sigma$ ,  $\mu$ ) be a fuzzy graph .The

complement of G is defined as  $\overline{G}: (\sigma, \overline{\mu})$  where

$$\mu(x, y) = \sigma(x) \land \sigma(y) - \mu(x, y) \forall x, y \in S$$

*Theorem 4.2:* Two fuzzy graphs are isomorphic if and only if their complements are isomorphic.

*Proof:* G :( $\sigma$ ,  $\mu$ ) & G': ( $\sigma$ ',  $\mu$ ') be the two fuzzy graphs given.

Assume  $G \cong G'$ .

There exists a bijective map  $h: S \to S'$  satisfying  $\sigma(x) = \sigma'(h(x)) \forall x \in S \&$   $\mu(x, y) = \mu'(h(x), h(y)) \forall x, y \in S$ . By definition  $\overline{\mu}(x, y) = \sigma(x) \land \sigma(y) - \mu(x, y) \forall x, y \in S$   $\overline{\mu}(x, y) = \sigma'(h(x)) \land \sigma'(h(y)) - \mu'(h(x), h(y))$  $= \overline{\mu'}(h(x), h(y)) \forall x, y \in S$ 

i.e  $\overline{G} \cong \overline{G'}$ 

(9)

Conversely, assume that  $\overline{G} \cong \overline{G'}$ ;

i.e there exists a bijective map  $g: S \to S'$  satisfying

$$\sigma(x) = \sigma'(g(x)) \forall x \in S$$
(14)

$$\overline{\mu}(x,y) = \overline{\mu'}(g(x),g(y)) \forall x,y \in S$$
(15)

Using the definition of complement

$$\overline{\mu}(x, y) = \sigma(x) \land \sigma(y) - \mu(x, y) \forall x, y \in S$$
  
$$\overline{\mu'}(g(x), g(y)) = \sigma'(g(x)) \land \sigma'(g(y)) - \mu'(g(x), g(y))$$
  
Using the above two equations in (15) and by (14)

Using the above two equations in (15) and by (14)  
$$\mu(x, y) = \mu'(\alpha(x), \alpha(y)) \forall x, y \in S$$

$$\mu(x, y) = \mu(g(x), g(y)) \lor x, y \in S$$
(16)

(10)

Hence from (14) and (16)  $g: S \to S'$  is an isomorphism between G and G'. i.e.  $G \cong G'$ 

Theorem 4.3: If there is a weak isomorphism between G and G' then there is a weak isomorphism between  $\overline{G}$ ' and  $\overline{G}$ .

*Proof:* If h is a weak isomorphism between G & G' then,

 $h: S \to S'$  is a bijective map that satisfies

$$h(x) = x', x \in S, \sigma(x) = \sigma'(h(x)) \forall x \in S$$
(17)

$$\mu(x, y) \le \mu'(h(x), h(y)) \forall x, y \in S$$
(18)

As  $h^{-1}: S' \to S$  is also bijective for every x' in S' there is an  $x \in S$  such that  $h^{-1}(x') = x$ . Using this in (17)

$$\sigma'(x') = \sigma(h^{-1}(x')) \forall x' \in S'$$
Also, by using (17) & (18) in
(19)

$$\mu(x, y) = \sigma(x) \wedge \sigma(y) - \mu(x, y) \forall x, y \in S$$
  

$$\overline{\mu}(h^{-1}(x'), h^{-1}(y'))$$
  

$$\geq \sigma'(h(x)) \wedge \sigma'(h(y)) - \mu'(h(x), h(y))$$
  

$$= \sigma'(x') \wedge \sigma'(y') - \mu'(x', y') \forall x', y' \in S'$$
  

$$= \overline{\mu'}(x', y') \forall x', y' \in S'$$
  
i.e  $\overline{\mu'}(x', y') \leq \overline{\mu}(h^{-1}(x'), h^{-1}(y'))$ 
(20)

Thus  $h^{-1}: S' \to S$  is a bijective map, which is a weak isomorphism between  $\overline{G'}$  &  $\overline{G}$  by (19) and (20).

Theorem 4.4: If there is a co-weak isomorphism between G

& G' then there can be a homomorphism between G and G'. Proof: Let h be co-weak isomorphism between G and G'

respectively ie,  $h: S \to S'$  is a bijective map that satisfies (21)

 $\sigma(x) \le \sigma'(h(x)) \forall x \in S$ 

 $\mu(x, y) = \mu'(h(x), h(y)) \forall x, y \in S$ (22)

In G, using (21) and (22)

$$\mu(x, y) = \sigma(x) \land \sigma(y) - \mu(x, y) \forall x, y \in S$$
  
$$\leq \sigma'(h(x)) \land \sigma'(h(y)) - \mu'(h(x), h(y))$$
  
$$= \overline{\mu'}(h(x), h(y)) \forall x, y \in S$$

Hence  $\mu(x, y) \le \mu'(h(x), h(y)) \forall x, y \in S$ (23)

By (21) and (23) h is a bijective homomorphism between G and G'.

Remark 4.5: If G is co-weak isomorphic to G', then G and G' need not be co-weak isomorphic.

Example 4.6: Consider the example 3.5, in which there is a co-weak isomorphism between G and G'. i.e Here Fig 7(a) is co-weak isomorphic with fig 8(a)







But there is no co-weak isomorphism between Fig 7 (b) and Fig 8(b) whereas there is a homomorphism between G and G'.

Theorem 4.7 [3]: Let  $(\sigma_1, \mu_1)$  and  $(\sigma_2, \mu_2)$  be the two partial fuzzy subgraphs of the fuzzy graphs G<sub>1</sub> and G<sub>2</sub> respectively. If 'h' is an isomorphism of  $(\sigma_1, \mu_1)$  and  $(\sigma_{2}, \mu_{2})$  then it is an isomorphism of  $(\operatorname{supp} \sigma_{1}, \operatorname{supp} \mu_{1})$ onto (supp  $\sigma_{2}$ , supp  $\mu_{2}$ ).

Definition 4.8/6]: A fuzzy graph G:  $(\sigma, \mu)$  with underlying set S is said to be a complete fuzzy graph if

 $\mu(x, y) = \sigma(x) \wedge \sigma(y) \forall x, y \in S$  and denoted as  $K_{\sigma}$ .

Theorem 4.9: Any simple fuzzy graph G: ( $\sigma$ ,  $\mu$ ) of order 'n' is isomorphic to a partial fuzzy subgraph of the complete fuzzy graph  $K_{\sigma}$  of order 'n'

*Proof:* Let G:  $(\sigma, \mu)$  be the given fuzzy graph of order 'n'. Now construct a  $K_{\sigma}\,$  of order 'n', as a fuzzy graph  $(\sigma, \mu')$ 

where  $\mu'(x, y) = \sigma(x) \land \sigma(y) \forall x, y \in S$  where S is the under lying set of G.

As in general  $\mu(x, y) \leq \sigma(x) \wedge \sigma(y) \forall x, y \in S$ 

$$\mu(x, y) \le \mu'(x, y) \forall x, y \in S$$

Hence G is a fuzzy spanning subgraph of  $K_{\sigma}$  i.e G is isomorphic to a partial fuzzy sub graph of the complete fuzzy graph  $K_{\sigma}$  of order 'n'.

Definition 4.10[3]: Let G: $(\sigma, \mu)$  be a fuzzy graph with the underlying graph (V,E). The fuzzy line graph of G is L(G):  $(\omega, \lambda)$  with the underlying graph (Z,W) where the node set Z is

$$\{S_x = \{x\} \cup \{u_x, v_x\} / x \in E, u_x, v_x \in V, x = (u_x, v_x)\}$$
$$W = \{(S_x, S_y) / S_x \cap S_y \neq \phi, x, y \in E, x \neq y\}$$
$$\omega(S_x) = \mu(x) \forall S_x \in Z \text{ and}$$

$$\lambda(S_x, S_y) = \mu(x) \land \mu(y) \forall (S_x, S_y) \in W$$

Theorem 4.11: If  $G_1 : (\sigma_1, \mu_1)$  and  $G_2 : (\sigma_2, \mu_2)$  are the two isomorphic fuzzy graphs then their fuzzy line graphs are also isomorphic

*Proof:* Given  $G_1$  and  $G_2$  are the two isomorphic fuzzy graphs with the underlying sets  $S_1 \& S_2$  respectively. i.e there exists a bijective map  $h: S_1 \to S_2$  satisfying

$$\sigma_1(x) = \sigma_2(h(x)) \forall x \in S$$

$$\mu_1(x, y) = \mu_2(h(x), h(y)) \forall x, y \in S_1$$

Let  $L(G_1):(\omega_1, \lambda_1) \& L(G_2): (\omega_2, \lambda_2)$  be the line graphs of G1 & G2 respectively.

Consider an  $x \in E_1$ . Let  $x = (u_x, v_x)$  As  $h: S_1 \to S_2$  is (1)

1-1, onto, 
$$h(x) = (h(u_x), h(v_x)) \in E_2$$
.

Define g:  $Z_1 \rightarrow Z_2$  as  $g(S_x) = S_{h(x)}$ 

As h is one to one onto, g is well defined and one to one onto mapping. Consider,

$$\omega_{1}(S_{x}) = \mu_{1}(x) \forall S_{x} \in Z_{1} \text{ (by definition of line graphs)}$$
  

$$\omega_{1}(S_{x}) = \mu_{1}(u_{x}, v_{x}) = \mu_{2}(h(u_{x}), h(v_{x})) = \mu_{2}(h(x))$$
  

$$\omega_{1}(S_{x}) = \omega_{2}(S_{h(x)}) = \omega_{2}(g(S_{x})) \forall S_{x} \in Z_{1}$$
(24)  

$$\lambda_{1}(S_{x}, S_{y}) = \mu_{1}(x) \land \mu_{1}(y) \forall (S_{x}, S_{y}) \in W_{1}$$
  

$$= \mu_{1}(u_{x}, v_{x}) \land \mu_{1}(u_{y}, v_{y})$$

$$= \mu_{2}(h(u_{x}), h(v_{x})) \wedge \mu_{2}(h(u_{y}), h(v_{y}))$$
  
$$= \mu_{2}(h(x)) \wedge \mu_{2}(h(y))$$
  
$$= \lambda_{2}(S_{h(x)}, S_{h(y)})$$
  
$$= \lambda_{2}(g(S_{x}), g(S_{y})) \forall x, y \in E_{1}$$

 $\lambda_1(S_x, S_y) = \lambda_2(g(S_x), g(S_y)) \forall S_x, S_y \in Z_1$ (25)

From equations (24) and (25)  $L(G_1):(\omega_1, \lambda_1)$  and  $L(G_2):$ ( $\omega_2, \lambda_2$ ) are isomorphic fuzzy line graphs when  $G_1$  and  $G_2$  are the two isomorphic fuzzy graphs.

Remark 4.12: In crisp graph we have L  $(C_n)\cong C_n$  ,  $C_n$  denotes cycle of length n. But this does not hold good in fuzzy graph

*Example 4.13*: Consider the fuzzy cycle G:  $(\sigma, \mu)$  with the under lying graph (V,E), represented as  $V = \{u, v, w\}$  $E = \{(u, v), (v, w), (w, u)\}$  with  $\sigma(u) = 3/4, \sigma(v) = 1$ ,  $\sigma(w) = 1, \mu(u, v) = 1/2, \mu(u, w) = 1/2, \mu(v, w) = 1$ 





The fuzzy line graph of the fuzzy cycle G:( $\sigma, \mu$ ) is L(G): ( $\omega, \lambda$ ) with the underlying graph (Z,W) where Z = { S<sub>1</sub>, S<sub>2</sub>, S<sub>3</sub> }& S<sub>1</sub> = {(w,u), {w}, {u}}, S<sub>2</sub> = {(u,v), {u}, {v}} S<sub>3</sub> = {(w,v), {w}, {v}} is in the following figure with  $W = {(S_x, S_y) / S_x \cap S_y \neq \phi, x, y \in E, x \neq y}$ 







As a map from  $V \rightarrow Z$  preserving the weight of the vertices and weight of the arcs cannot be defined,  $L(G) \ncong G$ 

## V. SELF COMPLEMENTARY FUZZY GRAPHS

Definition 5.1 [7]: A fuzzy graph is said to be self complementary if  $G \cong G'$ 

Example 5.2



In this example  $G \cong G$ 

Example 5.3



In this example,  $G \ncong \overline{G}$ 

Theorem 5.4 [7]: Let G: (  $\sigma, \mu$  ) be a self complementary

fuzzy graph. Then 
$$\sum_{x \neq y} \mu(x, y) = \frac{1}{2} \sum_{x \neq y} (\sigma(x) \wedge \sigma(y))$$

*Remark 5.5:* As a consequence of the above theorem if G is a self complementary fuzzy graph, then

Size of G = q = 
$$\frac{1}{2} \sum_{x \neq y} (\sigma(x) \wedge \sigma(y))$$

But the converse of the above theorem is not true, because

in example 5.3, Size of G = 1.6 and 
$$\frac{1}{2} \sum_{x \neq y} (\sigma(x) \land \sigma(y))$$

= 1.6. But 
$$G \ncong \overline{G}$$

## VI. SELF WEAK COMPLEMENTARY FUZZY GRAPHS

Definition 6.1: A fuzzy graph G is said to be self weak complementary fuzzy graph if G is weak isomorphic with its complement  $\overline{G}$ 

*Remark 6.2:* The fuzzy graph G, Fig 12 (a) given in example5.3 is not a self weak complementary fuzzy graph *Example 6.3* 





In this example G is weak isomorphic with G, hence G is a self weak complementary fuzzy graph.

Theorem 6.4: Let G be a self weak complementary fuzzy  $1 \sum \frac{1}{2} \sum \frac{1}{2$ 

graph then 
$$\sum_{x \neq y} \mu(x, y) \le \frac{1}{2} \sum_{x \neq y} (\sigma(x) \land \sigma(y))$$

Proof: G is self weak complementary fuzzy graph .Hence G

is weak-isomorphic with G. So, there exists a weak isomorphism,  $h: S \to S$ , a bijective mapping satisfying  $\sigma(x) = \sigma(h(x)) \forall x \in S$  and

 $\mu(x, y) \le \mu(h(x), h(y)) \forall x, y \in S$ 

Using the definition of complement, in the above inequality,  $\mu(x, y) \le \sigma(h(x)) \land \sigma(h(y)) - \mu(h(x), h(y))$ 

$$\sigma(x) \wedge \sigma(y) - \mu(h(x), h(y))$$

$$\mu(x, y) + \mu(h(x), h(y)) \le \sigma(x) \land \sigma(y)$$

Taking summation,

$$\sum_{x \neq y} \mu(x, y) + \sum_{x \neq y} \mu(h(x), h(y)) \le \sum_{x \neq y} \sigma(x) \wedge \sigma(y)$$

 $2\sum_{x\neq y}\mu(x,y) \le \sum_{x\neq y}\sigma(x) \wedge \sigma(y) \text{ (since Sis a finite set)}$ 

Hence 
$$\sum_{x \neq y} \mu(x, y) \leq \frac{1}{2} \sum_{x \neq y} \sigma(x) \wedge \sigma(y)$$
 in S.

Theorem 6.5: Let G be a fuzzy graph. If

 $\mu(x, y) \le \frac{1}{2}(\sigma(x) \land \sigma(y))$  for all x, y in S then G is a self

weak complementary fuzzy graph.

*Proof:* Consider the identity map  $h: S \to S$  $\sigma(x) = \sigma(h(x)) \forall x \in S$ 

By definition of  $\overline{\mu}$ 

$$\overline{\mu}(x, y) = \sigma(x) \land \sigma(y) - \mu(x, y) \forall x, y \in S$$
$$\overline{\mu}(x, y) \ge \sigma(x) \land \sigma(y) - \frac{1}{2}(\sigma(x) \land \sigma(y))$$
$$= \frac{1}{2}(\sigma(x) \land \sigma(y))$$
$$\ge \mu(x, y) \forall x, y \in S$$

i.e  $\mu(x, y) \le \overline{\mu}(h(x), h(y)) \forall x, y \in S$ 

Hence G is weak isomorphic with G . Therefore G is a self weak complementary fuzzy graph.

Remark 6.6:

1. When G is co-weak isomorphic with  $\overline{G}$ , then G is a self complementary fuzzy graph.

2. When G is a self weak complementary fuzzy graph then order (G) = order ( $\overline{G}$ ) and size (G)  $\leq$  size ( $\overline{G}$ ) But the converse of the above is not true.

As in example 5.3, we have order (G) =order ( $\overline{G}$ ) = 2.8 and size (G) = 1.6 and size ( $\overline{G}$ ) =1.6 but G is not a self weak complementary fuzzy graph.

## VII. CONCLUSION AND FUTURE STUDIES

In this paper isomorphism between fuzzy graphs is proved to be an equivalence relation and weak isomorphism is proved to be a partial order relation. Similarly it is expected that coweak isomorphism can be proved to be a partial order relation. A necessary and then a sufficient condition for a fuzzy graph to be self weak complementary are studied. The results discussed may be used to study about various fuzzy graph invariants.

#### REFERENCES

- Bhattacharya, P, Some Remarks on fuzzy graphs, Pattern Recognition Letter 6: 297-302, 1987.
- Bhutani, K.R., On Automorphism of Fuzzy graphs, Pattern Recognition Letter 9: 159-162,1989
- [3] Mordeson, J.N. and P.S. Nair Fuzzy Graphs and Fuzzy Hypergraphs Physica Verlag, Heidelberg 1998; Second Edition 2001.
- [4] Nagoorgani, A., and Chandrasekaran, V.T., Domination in fuzzy graph, Adv. in Fuzzy sets & Systems 1(1) (2006), 17-26.
- [5] Nagoorgani. A., and Basheer Ahamed, M., Strong and Weak Domination in Fuzzy Graphs, East Asian Mathematical Journal, Vol.23, No.1, June 30, (2007) pp 1-8.
- [6] Somasundaram. A., and Somasundaram, S., Domination in fuzzy graphs, Pattern Recognition Letter 19: (1998) 787-791.
- [7] Sunitha, M.S., and Vijayakumar, A, Complement of fuzzy graph, Indian J, pure appl, Math., 33(9); 1451-1464 September 2002.